

Olmsted Historical Society Frostville Museum – a 19th Century Village

24101 Cedar Point Rd, North Olmsted, OH 44070 Mailing Address: PO Box 38144, Olmsted Falls, OH 44139

www.olmstedhistoricalsociety.org

OLMSTED HISTORICAL SOCIETY ARCHIVE RESTORATION & PRESERVATION PROJECT

Report as of December 31, 2022

As of December 31, 2022, the Archive Committee has purchased all supplies & equipment listed in our application for the Ohio Historical Records Advisory Board re-grant monies through the grant from the National Historical Publications & Records Commission. Attached are the invoices, checks and final expense report.

We have been organizing, categorizing, and properly preserving our extensive historical holdings in archival materials. We have created an Archive Request Form which can be found on our website. We have finalized the labeling and placing categorized materials for our over 250 Family Files in archival sleeves, file folders, boxes and placing them on metal shelving. An inventory of Family Files and pictures of this portion of our archival library has been placed on our website and Facebook page. Attached is our Family Files listing.

The Society is fortunate to have a large quantity of materials, approximately 450 cubic footage/number, that have been generously donated. In saying that, this project is far more extensive than originally thought. Under the grant timeline, we have clocked over 2500 volunteer hours. When you look at our before and after pictures, you can see we have been taking great strides in preserving the historical materials. These pictures are attached.

Located in the Cleveland Metroparks' Rocky River Reservation 501(C) (3) non-profit

Preserving the Past and the Present for the Future

We are asking for a three month extension on this grant which would end on March 31, 2023.

The purchased supplies from the grant funds and matching funds have been depleted. Therefore, we require additional supplies to finish our categorized and labeled General File materials, which we have placed in archival boxes and on metal shelving. Our Finance Committee is meeting to approve our 2023 budget so that we can purchase additional supplies. Attached is our Map Box #1 and General File Archive Reference Library listings which records the main topic enclosed in each box. There are numerous sub-titles under each main topic.

This has been a monumental undertaking but our all-volunteer Archive Committee members have been diligently working to place our irreplaceable materials in archival safe resources. We are committed to completing our plan of "Preserving the Past for the Present and Future" generations. While executing and completing each phase of our grant project, we have discovered so much about our surrounding area's history that we are able to share with our members and the public. We have experienced increase inquiries from people doing research on their families, historical buildings and general historical information. Some of our area schools and organizations have approached the Society to do tours of our historical buildings and for students to do reports on the area's first settlers.

Through our promoting the archives and the Society, the public is becoming increasingly aware of what information we can offer them. We have been posting the grant award and our step-by-step progress in completing the grant objectives on our website and our Facebook page. We have contacted our local newspaper "The WestLife" and they would like to do a story on this grant and our archives. If granted, we agreed to do the story before the March 31, 2023, extended deadline.

We are looking toward the future to take our archival protected documents to digitalized holdings. We are currently researching computers, printers, scanners and the PastPerfect software. We are motivated in our labors to see the transformation of the Olmsted Historical Society's archive collections come into the 21st century by an online presence.

Submitted By The Archive Committee:

Anne Schreiber, Chairman Sue Gearhart Carol McBean Janice Mettler

OHIO HISTORICAL RECORDS ADVISORY BOARD NATIONAL HISTORICAL RECORDS & PUBLICATION (NHPRC) State and National Archival Partnership (SNAP) Grants Regrant Program

Salary & Wages		nit Price	Qty	Total Price	
Volunteer Hours		28.54	34.65		988.91
Supplies					
E-flute Shallow Lid Box Blue 16w x 20L x 5"H	\$	33.30		\$	166.50
E-flute Shallow Lid Box Blue 12w x 15L x 10"H		25.80	5		129.00
Third Cut Tab Letter Size File Folders		46.99	3		140.97
Third Cut Tab Legal Size File Folders		48.30	2		96.60
Plyprpyln Prsntn Pckts 8 3/4 x 11 5/16		24.08	5		120.40
Plyprpyln Prsntn Pckts 4 1/4 x 6 5/16		14.81	1		14.81
Plyprpyln Prsntn Pckts 9 1/4 x 12 5/16		25.24	1		25.24
Plyprpyln Prsntn Pckts 11 1/4 x 14 5/16		33.44	1		33.44
PermaPlus Foilbck Laser Labels		50.96	1		50.96
Safco 20 Compartment Roll Storage		76.68	2		153.36
Archival Polyester Sheets 10 x 12		16.75	3		50.28
Archival Polyester Sheets 18 x 26		48.15	3		144.45
3M Polyester Double Sided Tape 36 yds 1/2"		21.00	4		84.00
Permalife 20 lb Bond Paper Letter 8 1/2 x 11		22.07	4		88.28
Permalife 20 lb Bond Paper Legal 8 1/2 x 14		28.84	4		115.36
Pioneer Photo Acid-Free Glue Stick		0.96	4		3.84
Sakura Identi-pen		3.86	10		38.60
Lineco Document Repair Tape 50 ft		15.19	2		30.38
Gaylord Storage Carton with Handholds		50.31	8		402.48
White DuraShield Pamphlet File 12Hx5Wx10 1/2' D		11.64	20		232.80
Blk Barrier Brd DeepLid Archival Print Box 3Hx8 1/2Wx 10 1/2L		13.86	5		69.30
Blk Barrier Brd DeepLid Archival Print Box 3Hx10 1/4Wx 12 1/4L		15.76	4		63.04
Blk Barrier Brd DeepLid Archival Print Box 2Hx13 3/4Wx19 3/4L		21.68	4		86.72
Blk Barrier Brd Deep Lid Archival Print Box 3Hx16 1/2Wx20 1/2L		27.12	4		108.48
6mil Plyprpyln Prsntn Pcks 5 1/4x7 5/16"		17.14	1		17.14
70# Unbuff 4 Flap Neg Enclosure Score 4 1/16 x 5 1/16		32.08	4		128.32
Tan Barrier Board Archival Glass Negative Storage 4 x 5		19.95	2		39.90
Total Supplies	_	· · · · · · · · · · · · · · · · · · ·		\$	2,634.65
, , , , , , , , , , , , , , , , , , , ,				•	,
Equipment					
Chrome Wire Shelving 48 x 18 x 54	- \$	169.00	3	\$	507.00
Chrome Wire Shelving 36 x 18 x 54		145.00	4		580.00
Chrome Wire Shelving 48 x 36 x 54		373.00	1		373.00
Casters for Wire Shelving		72.00	8		576.00
Bookcase 6 Shelf 35 x 13 x 84		290.00	1		290.00
Bookcase 4 shelf 35 x 13 x 52		195.00	2		390.00
Total Equipment				Ś	2,716.00
Total Equipment				•	_,,
Other Eligible Expenses					
Gaylord Shipping				\$	257.60
Uline Shipping					266.92
Total Eligible Expenses		-		\$	524.52
TOTAL PROJECT EXPENSES				\$	6,864.08

FAMILY GENEALOGY FILE LISTING

FROSTVILLE ARCHIVES

FAMILY GENEALOGY FILES

Adams	Comstock	Hoover	Merriam	Simmerer
Alexander	Cook	Hovey	Miller	Simon
Alford	Corwin	Howard	Minnel	Skinner
Ames	Coulter	Howe	Mitchell	Smith
Anderson	Cunningham	Hubbard	Morgan	Snow
Armstrong	Danalds	Hughes	Morton	Spafford
Atkinson	Davis	Hummel	Muche	Speer
Austin	Day	Huntington	Munn	Spence
Bailus	Dean	Hurd	Nelson	Spencer
Baker	Demaline	Hurrard	Nicholson	Sperry
Barnes	Deroy	Hurst	Northrup	Spieth
Barnum	Dewey	Hyde	Novak	Squire
Barrow	Doerner	Ingraham	Offenberg	Standen
Bartlett	Donald	Jaquays	Olmsted	Stauffer
Barton	Donaldson	Jenkins	Orvis	Stearns
Bassett	Douglas	Kamm	Owen	Stevenson
Bauer	Drandt	Kelley	Paddock	Stokes
Bauman	Eaton	Kellogg	Padilford	Strittmatter
Beach	Edwards	Kennedy	Palmer	Strong
Beckwith	Elliott	Kennedy Kepperley	Parker	Sutton
Beebe	Faeber	Kidney	Parsons	Sweet
Beekman	Farr	Kitson	Peake	Taffenbach
Bell	Fauver	Klee	Pearce	Taft
Bement	Fitch	Kline	Peck	Taub
Bentley	Fletcher	Knapp	Perkins	Taylor
Berry	Fralick	Knobloch	Porter	Terrell
Biddulph	Frost	Knudsen	Prechtel	Thompson
Blood	Fuller	Kyle	Rankin	Tibbits
Boehling	Gabel	Lacher	Rennison	Tischler
Bonsey	Geiger	Lamb	Reublin	Townsend
Bradford	Gifford	Lawrence	Rice	Traxter
Bradley	Glendenning	Lav	Rohweder	Tuttle
Bramley	Goodale	Lay Lehman	Romp	Tyler
Briggs	Gordon	Lepo	Root	Underhill
Bronson	Gorman	Lewis	Rose	Upp
Buehl	Gould	Limpert	Ross	Waite
Bunce	Grady	Lincoln	Ruple	Wallace
Burhans	Gregory	Loomis	Saal	Ward
Busby	Grubb	Love	Sabin	Watson
Cahoon	Hall	Lovell	Sage	Waugh
Camp	Harding	Lower	Salisbury	Webster
Campbell	Harrington	Maddox	Sanford	Weed
Campoen	Harrison	Malagrida	Sauder	Wershing
Carpenter	Hawkins	Martindale	Scales	Westbrook
Caswell	Hawryluk	Mason	Schaeffer	Whipple
Caulkins	Hendrickson	Mastick	Schuster	Whitmall
Christensen	Hickey	McBean		Wilford
Christman	Hickox	McIlrath	Seager	
Clark	Hoadley	McKenzie	Sears Seltzer	Wilkinson Williams
Coates	Hockman	McMahon	Shaw	williams Wilson
Coates		McMillan	Sheets	
Coe	Hoftyzer Holcombe	Mellenbrook	Siedel	Wolf
Coe				Yule
Contei	Holzworth	Mellencamp	Siers	

PROJECT BEFORE AND AFTER PICTURES

Olmsted Historical Society

Frostville Museum

HOME

ABOUT

TOURS

EVENTS CALENDAR

CONTACT

ARCHIVES

MEMBERSHIP

More

Archives







We have a grant! The Olmsted Historical Society
Archives Department applied for the *Ohio Historical Records Advisory Board Grant*.
Click <u>here</u> to find out more.

The Archive Committee's main goal is to follow our Olmsted Historical Society's Mission Statement which is to "Preserve the Past and Present for the Future". To this end, we are presently in the process of organizing our extensive historical family histories, letters, diaries, photographs, newspapers, community collections, local government items, reference library and much more. We will be preserving all our articles in archival quality folders, sleeves, and boxes. We eventually will be cataloguing and digitalizing our collection. Our purpose is to make our collections more accessible to its members, schools, community organizations and our citizens near and far. We will be moving from the overcrowded space where our collection is now held to the upstairs of the historical Thompson House which is currently being restored.

We are hard at work organizing and preserving the Society's collection. We want to have a library setting for all to use for research and the enjoyment of learning more of the history of our local area and its citizens. Even though we are working on the Archives, please know that we are still available to help you with any research.

Fill out the "Archive Research Form" and we will be happy to contact you and help you with your research. The form is interactive. Add your information, save the document and attach it to an email sent to: olmstedhistoricalsociety@gmail.com



Family Files - Complete



General Files Picture 1



General Files Picture 2



General Files Picture 3

ARCHIVE REFERENCE LIBRARY AND MAP BOX #1 LISTINGS

ARCHIVE REFERENCE LIBRARY

ADVERTISEMENTS

AREA CHURCHES and NEARBY COMMUNITIES

BARTON ROAD CHURCH

BUTTERNUT CEMETERY

CHUCH INFORMATION for NORTH OLMSTED CHURCHES

CIVIL WAR LETTERS

CIVIL WAR MISCELLANEOUS

DVDs and CDs

FAMILY HISTORY FILES

FAMILY HISTORY LARGE DOCUMENT FILES

FIRE DEPARTMENT MISCELLANEOUS

FROSTVILLE CAMPUS

FROSTVILLE DONORS

FROSTVILLE EVENTS

FROSTVILLE MILITARY TIMELINE PHOTOS

GENERAL GENEALOGY RESEARCH

HISTORICAL SOCIETY ADMINISTRATIVE RECORDS (3 BOXES)

MAPS OF SURROUNDING AREAS

MARRIAGE CERTIFICATES and LICENSES

METROPARKS INFORMATION

MICHELLE OBAMA AWARD

MILITARY SERVICE - LOCAL AREA

NEARBY TOWNS

NORTH OLMSTED CITY AWARDS

NORTH OLMSTED CITY HALL AWARDS

NORTH OLMSTED BUS LINE

NORTH OLMSTED CITY (3 BOXES)

NORTH OLMSTED FIRE DEPT.

NORTH OLMSTED INFRASTRUCTURE

NORTH OLMSTED ORGANIZATIONS and TOWNE CLUB

NORTH OLMSTED POLICE

NORTH OLMSTED PTA SCRAPBOOKS

NORTH OLMSTED SCHOOLS - PHOTOS (2 BOXES)

OTHER HISTORICAL SOCIETIES and MUSEUMS

OLMSTED FALLS HISTORICAL FILES & PHOTOS (3 BOXES)

REFERENCE RESEARCH MATERIAL (2 BOXES)

SELTZER COLLECTION

SCHOOL BOOKS and EDUCATIONAL MATERIALS

TINTYPES and DIARIES

TRANSPORTATION - AIRPLANES and TRAINS

WEDDING CERTIFICATES and WEDDING INFORMATION WORKSHOP ARCHITECTURAL PLANS

Frostville Misc Lists.xls Dec. 8, 2022

MAP BOX # 1 CONTENTS

sequenced by community / subject

Pg. from top of box	DESCRIPTION	COMMUNITY
1	MISC. NORTH OLMSTED FOLDED MAPS - Undated	NORTH OLMSTED
6	NORTH OLMSTED - 1850	NORTH OLMSTED
8	MAP OF NORTH OLMSTED - 1985	NORTH OLMSTED
22	ZONE MAP, VILLAGE OF NORTH OLMSTED - 1940	NORTH OLMSTED
25	STREETS & PARCELS, NORTH OLMSTED - 1976	NORTH OLMSTED
28	LANDOWNERS MASTICK ROAD MAP - 1930	NORTH OLMSTED
2	OLMSTED - 1874	OLMSTED
4	OLMSTED FALLS BUSINESS MAP - 1874	OLMSTED FALLS
1 7	VILLAGE OF OLMSTED FALLS, THOROUGHFARE PLAN	OLMSTED FALLS
21	MAP OF OMSTED FALLS LOT 4 TRACT 5	OLMSTED FALLS
29	MAP OF OLMSTED FALLS - 1880	OLMSTED FALLS
7	HISTORIC THOMPSON HOUSE RELOCATION TO FROSTVILLE - 2016	FROSTVILLE
10	HIGHWAY MAP OF CUYAHOGA COUNTY - 2005	CUYAHOGA COUNTY
14	HERE'S CUYAHOGA COUNTY - 1968 / GOVERNMENT INFORMATION	CUYAHOGA COUNTY
15	CUYAHOGA COUNTY 1852 LAND OWNERSHIP MAP INDEX	CUYAHOGA COUNTY
18	CUYAHOGA COUNTY LANDOWNERS MAP - 1852	CUYAHOGA COUNTY
20	CITIES IN CUYAHOGA COUNTY - 1899	CUYAHOGA COUNTY
9	COMPLETE ATLAS OF CLEVELAND - 1963	CLEVELAND
27	DOWNTOWN CLEVELAND PHOTOS - 1938	CLEVELAND
12	OHIO ROAD MAP 1988	OHIO
16	SHORT HISTORY OF OHIO LANDS 0 1997	OHIO
24	HOW OHIO COUNTIES GOT THEIR NAME	OHIO
5	MAP OF MIDDLEBURG	MIDDLEBURG
26	SUB PLAN DOVER VILLAGE - 1920	DOVER VILLAGE
13	SECTIONAL MAP OF AKRON, BARBERTON CUYAHOGA FALLS	AKRON AREA
11	STREET ATLAS OF LORAIN & MEDINA COUNTIES - 1972	LORAIN & MEDINA COUNTIES
19	ROAD MAP OF MEDINA COUNTY - Undated	LORAIN & MEDINA COUNTIES
23	LORAIN VILLAS ALLOTMENTS	LORAIN & MEDINA COUNTIES
3	COLUMBIA	COLUMBIA

PRESS COVERINGS

Olmsted Historical Society

Frostville Museum



HOME

Buildings

TOURS

EVENTS CALENDAR

CONTACT

ARCHIVES

MEMBERSHIP

More

Archives



"WE HAVE MADE
PROGRESS!! OUR FAMILY
COLLECTION IS COMPLETE".
The Society's family files have
been sorted alphabetically,
labeled, placed in archival sleeves
and folders and stored in archival
boxes.



Brooks Content of the six				January 24, 22
	FROST	VILLE A	RCHIVES	
	-		GY FILES	
	No. of the last	The Carlo		
Adams	Careatock	Hoover	Merriam	Stromaner
Alexander	Cook	Hovey	Miller	Stenor. Skinner
Alford	Commin	Howard	Minnel	
Ames	Coulser	Honra Hubbard	Michell	Smith Septi
Anderson.	Curningham		Morgan	
Armsumg	Danalds	Hughes Hummel	Morton Muche	Spatierd Speer
Asignaon. Auesto	Derris	Hummel	Munn	Spence
Refus	Deen	Hard	Nalann	Spencer
Malitet Baleer	Demaline	Hurrard	Nicholann	Speny
Names Remas	Darroy	Huro	Northean	Spany Spanh
Ramas Barnum	Denogr	Fibrds	Novak	Squire
Bacrony	Doerner	Ingraham	Otterberg	Standan
Bartien	Donald	Jagueys	Climated	Stauffer
Ramon .	Donaldson	Teristra	Creta	Searce
Barson Raccon	Douglas	Karren	Otom	Segrences
Bauer	Drands	Keller	Paddock	Contact
Records	Faces	Kalloge	Padiliord	Secretaries
Reach	Edyrards	Kennedy	Palmer	Serong
Redovsk	Titori	Kepperley	Parior	Suiton
Backson. Radiu	Pagher	Kidney	Parsons	Group
Baskman	Face	Kison	Peake	Taiferbach
Rell	Faurer	Ties.	Pearce	Tab
Rement	Pach	Klina	Pack	Taub
Benday	Recher	Knapp	Perkins	Taylor
Barry	Prairie	Keekloch	Donar	Terrell
Biddulph	Pross	Knudsen	Prechiel	Thompson
Blood	Puller	Krie	Rankon	Tilring
Boshing	Cabel	Lacher	Renguage.	Tiachler
Bonsey	Geiger	Lamb	Radion	Tonnsend
Bradford	Geford	Lavonence	Rice	Travier
Dradler	Clanderming	Lav	Rohnreder	Tuttle
Bramier	Goodale	Leheren	Rong	Tyler
Briggs	Cordon.	Lapo	Rook	Underhill
Brongon	Corman	Lents	Rose	Upp
Buehi	Gould	Limperi	Ross	Water
Bunos	Credy	Lincoln	Rupia	Wellace
Burhans	Gregory	Locures	Seel	Ward
Rudy	Grabb	Love	Sebtro	Waleon.
Caltoon	Hall	Lovell	Sage	Wangh.
Camp	Harding	Lower	Salisbury	Webpier
Campbell.	Hammington	Maddow	Senford	West
Carpenter	Harrison	Malagetda	Seuder	Weshing
Capier	Handons	Margndale	Scales	Wasterook
Carrvell	Henrylisk	3-fason	Schaeffer	Whipple
Caulions	Handrickson.	Manuck	Schusser	Whitenall
Christensen	Hickey	3-fcBean	Seager	Wildord
Chetauman	Hickon	Mcllrath	Sears	Wilkstein
Clark	Heading	3-fcKenzte	Selizer	Wiltems
Coeses	Hockmen	McMahon .	State	1Vilians
Cobb	Holyau	3.6d-billan	Sheets	Welf
Cox	Holcombe	Mellerbrook	Stedel	Yule

UPDATE: As of December 31, 2022, the Archive Committee has purchased all supplies & equipment relating to the Ohio Historical Records Advisory Board regrant monies through a grant from the National Historical Publications & Records Commission. We have been organizing, categorizing and placing in archival boxes all the records covered by the grant monies. We have finalized the labeling and placing categorized materials in archival sleeves. file folders and boxes for our over 250 Family Files. An inventory of Family Files has been placed on our website. This project is far more extensive than originally thought. We still have a lot of work to do. When you look at our before and after pictures, you can see we have been taking great care in preserving the historical materials for the present and future generations. Watch for our updates as we complete each phase.

We are a work in progress!

The Society is fortunate to have a large quantity of materials that have been generously donated. If you would like to donate to our archives, please contact one of the Archive Committee members. You can find our names & numbers listed on the Archive Research Request form. If you have a subject you would like to research, please fill out the Research Request form and we will be happy to assist you in your endeavors.

Current list of family names in the Olmsted Historical Society files.

The Archive Committee's main goal is to follow our Olmsted Historical Society's Mission Statement which is to "Preserve the Past and Present for the Future". To this end, we are presently in the process of organizing our extensive historical family histories, letters, diaries, photographs, newspapers, community collections, local government items, reference library and much more. We will be preserving all our articles in archival quality folders, sleeves, and boxes. We eventually will be cataloguing and digitalizing our collection. Our purpose is to make our collections more accessible to its members, schools, community organizations and our citizens near and far. We will be moving from the overcrowded space where our collection is now held to the upstairs of the historical Thompson House which is currently being restored.

We are hard at work organizing and preserving the Society's collection. We want to have a library setting for all to use for research and the enjoyment of learning more of the history of our local area and its citizens. Even though we are working on the Archives, please know that we are still available to help you with any research.

Fill out the "Archive Research Form" and we will be happy to contact you and help you with your research. The form is interactive. Add your information, save the document and attach it to an email sent to: olmstedhistoricalsociety@gmail.com

Click the icon below to check us out on Facebook!





Olmsted Historical Society

Museum · 6.3 mi · 141 likes

- 24101 Cedar Point Rd, North Olmsted, OH
- Angela Obbish and 4 other friends like this

Liked



Frostville Museum

18h · 🚱

The Olmsted Historical Society's Archive Dept. received a grant from the Ohio Historical Records Advisory Board to Preserve our irreplaceable documents in archival supplies and placing them on metal shelving. The Committee has been diligently working and has finalized the over 250 family files along with organizing and categorizing a monumental number of historical materials. For more information on our Archive Dept., please visit our website at:

olmstedhistoricalsociety.org

Search Results for

olmsted historical society

Filters

All

Posts

People

Photos

Videos

Marketplace

Pages

Places





Comment

Share



Like